INGILIZCE Sinif-12

KONU YKS-YDT'DE CIKMIS ORNEK SORULAR

1., 2. ve 3. sorularda verilen ciimlelere
anlamca en yakin climleleri bulunuz.

1. Despite its small size, Costa Rica,
whose geography varies from rainforests to
arid regions, is home to some of the most
intense biodiversity in the world.

A) Costa Rica has got one of the highest
levels of biodiversity in the world, and
rainforests and arid regions make up the
majority of the small country’s diverse
geography.

B) Partly because Costa Rica has a
geography that ranges from rainforests to
arid regions, the small country possesses
some of the richest biodiversity in the world.

C) With a diverse geography including
rainforests and arid regions, Costa Rica has
some of the richest biodiversity in the world
although it is a small country.

D) Costa Rica’s small size does not prevent
it from boasting some of the highest levels
of biodiversity in the world, partly due to its
geography ranging from rainforests to arid
regions.

E) While Costa Rica is blessed with some
of the most intense biodiversity in the world,
it is one of the smallest countries possessing
a geography ranging from rainforests to arid
regions.

COzUM: Soru kékiindeki “despite”
baglaci, “small” sifati ve “some of the
most intense biodiversity in the world”
dikkat gerektiren yapilardir, bu yapilarin
siklarda tam karsiligini eksik ya da eklemeler
olmadan aramaliyiz. Bu dogrultuda A
sikkinda “despite”I karsilayan bir yapi
yoktur, B sikkinda “partly because”u soru
kékunde karsilayan bir yapi yoktur, D
sikkinda “partly due to” yapisi yine soru
kokunde verilmeyen bir yapidir. C sikkinda
“although” baglaci “despite”i, “small
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small size” tamlamasini, “diverse
geography” ise soru kékindeki “geography
varies from...” yapisini tamamlamaktadir ve
dogru cevap C sikkidr.

Soru buyik anlamda adayin “synonym”
bilgisini 6lcmektedir.

country

2. The word ‘fossil’ comes from the Latin
word fossilis, meaning ‘dug up’, and that is
how some fossils are discovered, although
most are exposed by erosion.

A) Despite the fact that the word ‘fossil’
is derived from the Latin fossilis, which has
the meaning ‘dug up’, not all fossils are
discovered that way as they mostly appear
due to erosion.

B) The word ‘fossil’ which originated from
the Latin word fossilis, means ‘dug up’ but
the way that most of them are discovered is
through their appearance after erosion.

C) Unlike the ones that are discovered
after appearing due to erosion, ‘fossils’ are
‘dug up’, as the meaning of the Latin word
fossilis suggests.

D) The word ‘fossil’ is derived from the

Latin word fossilis and it means being ‘dug
up' instead of being discovered after having
emerged due to erosion.

E) Fossilis, which is the Latin origin of
the word ‘fossil’, means discovered either
when it is ‘dug up’ or emerged as a result of
erosion.

¢OzUM: Soru kékiindeki “that is how
some fossil..." yapisi, “although” baglac
ve “most” yapisi dikkat etmemiz gerken
noktalardir. O halde; B sikkinda “that is
how some fossil...” yapisi bulunmamaktadir.
C sikkinda, soru koékindeki “some” ve
“most” kelimelerini karsilayan yapilar
bulunmamaktadir. D sikkinda soru
kékindeki “although” yapisinin karsihg:
yoktur. E sikkindaki “either, or” u soru
kékinde karsilayacak bir yapi yoktur. A
sikki belirttigimiz yapilari tam anlamiyla
karsiladigi icin dogru cevaptir.

3. The etymology of the word
‘chocolate’ remains uncertain and open
to debate, but there is no doubt that the

ancient Aztecs hold the secret behind the
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origin of chocolate.

A) The etymology of ‘chocolate’ has
always been open to question, even in
today’s world, and it is clear that the Aztec
civilisation had something to do with it

B) The origin of the word ‘chocolate’ is still
not certain, and it is a controversial topic;
however, it is obvious the Aztecs were not
the only civilisation producing chocolate.

C) Where the word ‘chocolate’ originated
from is unclear, but it goes without question
that the Aztec civilisation consumed large
quantities of chocolate.

D) The root of the word ‘chocolate’
may be in question, but it is certain that
the answer lies with the ancient Aztec
civilisation.

E) ‘Chocolate’ is a word with an uncertain
history, which is open to discussion today;
however, it was the Aztec civilisation that
first started consuming chocolate.

COzUM: Soru kékinde dzellikle siklarda
karsiligini aramamiz gereken kelimeler
“etymology”, “uncertain and open to
debate”, "no doubt”, "hold the secret”dr.
Buradan yola cikarak; A sikkindaki “even
in today’s world” yapisi ve B sikkinda
“were not the only civilization”, C
sikkinda “consumed large quantities
of chocolate” ve E sikkinda “started
consuming chocolate” soru kokinde
verilmeyen yapilar oldugu icin eleriz. D
sikkindaki “root” kelimesi, soru kokindeki
“etymology” yi, “may be in question”
soru kékindeki “uncertain and open to
debate”i, “it is certain” soru koktundeki
“no doubt”I ve “answer lies with” ise soru
kokundeki “hold the secret”i karsilar.
Dolayisiyla dogru cevap D sikkidir.

Soru bu baglamlarda adayin “synonym”
bilgisini 6lgmektedir.



